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1. Taﬁﬁmﬁmwﬁﬁmmwwwmj

LDICIU I RIEE G| (@), QoA st
©) o o g (4) ST @Ry
borent; n y que to examine which of the following issues related to economic
owth !

(1) Population explosion

' _ 2) Level of employment
(3) Environmental Sustamabi]jty 8 ;::me distfibztion

2. o e AU TR HTH T g st a7 foead 1, St o e 1o 3
TUTdTd ?
1 o= (2) swifsw (@) TS (4) W

When you are not getting work even if you want to work at the prevailing wage rate, the
unemployment is called as

(1) Voluntary (2) Involuntar;r (3) Structural (4) Seasonal

3. YIRETen SEIHE FSl UG AL AOH o S S WIS TAR Heren 1991 wHe
wifiies QRO HEiHT Wieea B ?
(1) 3T TarEeH fawas wEEd
(2) Sqehientur fawaes ww
(3) et Tfor TS TS HEHT
(4) onfder SERIHIO HEHA
Which of the following programmes for economic reforms was prepared by IMF and world
bank to provide conditional loan to India in 1991 ?
(1) Economic Adjustment programme
(2) Globalization related programumne
(3) Stabilization and structural adjustment programme
(4) Economic liberalization programme

4, WWWWWWV%HWWWW? m?—;ﬁ
(1) V-9 mehRE
) V- g
@) V- Uemen yHeET

4 - o TR
E\lcorgjng to Fisher's Quantity theory of money, V Alphabet shows which of the following
variable ?

21) V - volume of money

2) V- value of money B
@) v- velocity of circulation of money
(4) V- volume of currency

RSO, AV

vGH WORK
FO FTARTE T/ SPACE FOR RO P.T.0.
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5. &6f SR Heetan fae etee P Ty A 2
(1) YEifusR =R =K (2) TH =R W
(3) enfifw @y (4) W wd

Regional trade associations develop through which of the following stages ?
(1)  Preferential Trade Agreement  (2) Free Trade Agreement
(3) Economic Union (4)  All the above

6. fohm Frduristamen wefreriet HoR faum arg o2
(1) Toime srwma T T A o P (HD) snfor e et e v
- (GDI), &= THA 3.
(2) e Tosr i s feimma geifer o Frvien fey gam ot
(3) TS e e (HPI) 71 7 forere Fwrierams s o,
(4) WWWWWWWQWWWWW@W.
Which of the following is the correct statement regarding Development Index ?

(1)  If gender inequality didn't exists the value of Human Development Index and Gender
related Development Index will be same.

(2) Parameters of HDI and GDI are same.

(3) Human Poverty Index (HPI) is a part of Human Development Index.
(4) Countries ranking high in HDI do not necessarily show gender equity.

7 W@WWWWWWWWW%@W
SHIOTT ? '

(1) ST A= T7e= et 1 7eH .
(2) ST Herd SATIRIAT STerT 2o,

(3) wﬁﬁwnﬁ‘mm'ﬁq{uawm.

(4) TERR ST FE AR =y 0,

Which of the following was the of establishing International Monetary Fund,
under Bretton Woods system ?

(1)  To provide credit to the countrieg to resolve Balance of Payment problems,
(2) To encourage free trade all over the globe.

(3) To end the import quotas system used as a method of trade control.
(4) To encourage smooth flow of foreign capital.

—
FHoT HHTETS S/ SPACE FOR ROUGH WORK
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(a) «mﬁtﬁﬁﬁ’@nﬁ,ﬁqﬁhmﬁamwm - ) .
®) ‘::ngg W, o et o aqften foehr TR G TR
vt 3

(1) (a) TR () (b) TR T,
@) (@) 3 0) TARWRAME. (4 oot FRE TR T
Which of the following statements is correct ? |

(a) According to Arthur Lewis, natural resources and economic development depend on
" each other.

() According to Arthur Lewis, natural resources and economic development do not depend
on each other.

Answer Options :
(1) (a) is correct (2) (b) is correct
(3) Both (a) and (b) are correct (4) None of above are not correct

10.

R Sfifes et € Hehea Gt shiuen AL A 2

(1) ST, HAS (2) MR ST

(3) S.um, &= (4 T fre

The concept of ‘natural rate of unemployment’ was introduced by which of the following

economists ?
(1) 71S. Mill (2) Arther Okun

(3 JM. Keynes (4) Milton Friedman

WHWW@ﬁaﬁﬁmmm?
(1) fergien srgaiEmEn <
() fergian Trear anfor ST <

e
() foime e Femterd STTE I i
(4) T snfeias anfer o L i T‘%a =ﬂ'6°f
Gender empowerment measur calculates, which of the following ?
men
(1) Life expectancy rate among W:te i s
(2 Literacy and unemplo I

) ymerlt p
(3)  Whether the sex ratio is 1" favgur 02 WOIiEn or not
4 wn re able 10 actively participate in economic and political life
ether women a

GH WORK
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11, S T e A I O (e o o
(1)  SRET ST STeeiE FEha T
(2) & WY G Seae FEERE
() =N R HgraEia T
(4) T et T

As per the classification of public expenditure, which of the following is revenue
expenditure ? - i, o |

(1) Administrative expenses on the defence establishments

(2) Expenses of capital transactions related with defence department
(3) Expenditure on payment of interest rate |

(4)  Expenditure on foreign investment

12. Gifds! HvE fum skew o ?
(2) TTEHE TEAIA ARYS WrEETE fi S

(b) @SR i e HeAe WeATE Fwio B,
it WY ;

(1) (a) TN TR, (2) (b) SR MR,
(3) (a) 37T (b) = s 2R, (4) TR PR SR T,
Which of the following sentence is correct ?

(@) Inflation is created due to increase in government expenditure.

(b) Inflation is created due to increase in private expenditure.
Answer Options :

(1) (a) is correct )

(b) is correct
(3) Both (a) and (b) are correct

(4) None of above are not correct

13. memﬁqmwm? S
(1) omehe Anld () e e
(3) ofen fmy (4) e fFe

Who stated the theory of Absolute cost
(1) Alfred Marshall

Advantage of International Trade ?
(2) Robert Malthus

(4) David Ricardo
\

oAl FTTESt ST/ SPACE FOR ROUGH wogk
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(1) SRS AR () . fm
@ TR (@) T

Who adopted consumption as a criterion for national income ?

(1) Alfred Marshall () AC. Pigou

(3) Prof. Fisher | ' (4 ]M. Keynes

—

15, T ST T e @ s A 2

(1) &9 Hd () HeheqTeTE d WireTwA

(3) wafa® o S (4) ot HIRE

Which are the two major difficulties in measurement of national income ?
(1) Micro and Macro (2) Conceptual and Statistical
(3) Elastic and Hard- (4) None of above

() e e T ST, T e, T
p— ﬂmaﬁwmmamawme
©) WWWWWWMWWWWW~

) g sreforaeda @orl e T A

Wyt et |
0 @atrg @ @O () GAME @ @
Which of the following State ments are true regarding private goods and public goods ?

divisible pubh'c goods are not divisible.
re dl 4

(@) Private goods a : "
o for prlvate goods, can’t use those goods or services.

(b) Those who can’t pay pric

economic factors on the use of private goods.

(¢) There is effect of othe’ SOCi(:qj](ed economy.
(d) Private goods are cheap
Choo tion *
5 s(e )the ;o(:)et!f op o @ © ® Hand(© @ (@ and(
U
OUGH WORK
e 5 : /SP ACE FOR P.T.O.
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17. TR IR wiciterie watd HewrE S BV 2
(1) e afir e Shames g6 ST
(2) VRIS S
(3) SWIdw qHH |6
(4) et wd wi
Which of the following is a major source of greenhouse gases ?
(1)  Burning of fossil fuels by industry and automobiles
(2) Rising sea levels

(3) Global warming
(4)  All of the above

18. 9WNIfYfEa steforemda wrwfys foarh YT EIeltatent IV HETERT TEEE T 2
(1) THNE TR AFY 9=Y
(2) AR AE famm
(3)  sreferaea wY wearfyg
@) ={« gd9

For which of the following activities does the role of public finance in the market economy is
imperative ? ' =

(1) Proper allocation of commodities in the society ¥

(2)  Justified distribution of income

(3) Establish stability in economy

(4) All the above

19.  SEEGHE HMiEh TR WATH Frory syefomemr 7Eel ?

(1) faee wiem () o R
(3) oM SHIA (4) .
Monetary approach to inflation is put forwarg by which of the following €Conomists ?
(1) Milton Friedman (2) I Fisher
(3) R. Dornbusch (4) J.M. Keynes
SEE——— _\

T ST ST/ SPACE FOR ROUGH woRrk
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20. E@aﬁ?ﬂ . - WY Sereroy o ?
(1) SR Tfat o ret ST

@) o BT S FH SRR ey o e T Ao R A S

() I FHCTT SR T T T O 3T,
iy R e R g R

Which of the following i's an example of regressive tax structure ?
(1) A tax system that imposes taxes on essential goods.
) Larger percentage of tax on higher income group as compared to lower income group.

(2
(3) Atype of tax ‘_system that imposes same relative burden on all tax-payers.
(4) None of the given options are correct.

9. foreia SUHHE SaaTe § Gits) S Serers B See ?

(1) =l T e (2) TR TG
(3) WEAIHS TG (4) RS Ferae
Which of the type of following inflation is known as inflation in developing countries ?
(1) Demand pull inflation (2) Cyclical inflation
(3) Structural inflation (4) Cost push inflation
22. "a@@wgﬁﬁammwﬁmmmmm i gfgda’,
9 Bl e ? -'
(1) TR faeia 2) S firsma
() ek e C) T i

ctor of the economy without any change in the basic structure
th”. Who said this ?

(2) John Friedman

(4) Joseph Schumpeter

“The expansion of one or more s
of the economy is economic grow
(1) Gunnar Myrdal

(3) Arthur Lewis

i S
2. vwEN e fagid el e FTHTIR YT kel ?
@ W B TR
() e g () 3 T R
W ot fraret |
W @ s ) @ () (o)
B (@ aT(brﬁ?T (4) (), () ¥ (d)
emogr;f(;)ic Trax\L(;:i)tion Theoty throws (i?ht %r; “t’}l:“lcht of the following factors ?
(@) Bj ath rate
(©) ngul;atzgn growth rate (d)  Infant mortality rate
O0se correct option : (2) (b) and (c)
?'hn\l(b) = ROUGH WORK
AT W/ SPACE FOR Lo
B
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24. WA BT ST wﬂﬁmﬁﬂﬁwawqﬁqﬁmﬁ?
(1) SIShRT Mo T ansagr it (2 frrem 31T e
(3) THIEHEN SrEeafer snam T (4) IRNR G e
Which of the following study groups is not related with the study of poverty line in India ?
(1) Dandekar and Rath Committee (2) Minhas study group

(3) Monteksingh Ahluwalia Committee (4) Tarapore Committee

25. @T&ﬁaﬁﬁ,%ﬂﬁamﬁﬁwﬁﬂﬁaﬁwmmmmmmﬁémm%
IrATeR Heifg ammRa ?

() =AIRY <lewieh g Jeft Frwior wvarh e AR

(d) =t ohish g o o A e i Ade

Fietient Fort faum i ema 2 |

(1) & QUM (2) W o=, (2) e UM (b) Y o7,

(3) Taum (a) a7ifon (d) wd amm. 4) faum (b) anftr (o) T e,
Following are the statements regarding what will happen if public prefers to hold a high
proportion of money in terms of cash ?

(@) The value of money multiplier will be low

(b)  The value of money multiplier will be high

(c)  The ability of commercial banks to create secondary deposits will be high
(d) The ability of commercial bank to create secondary deposits will be low
Which of the above statements are true ?

(1)  Only statement (a) is true (2) Only statement (b) is true

(3) Statements (a) and (d) are true (4) Statements (b) and (c) are true

—

26. WWWWWW@WW%W@%?
(1) T I & e FEhi e e AT ST,
(2) WW%WW@WWW@RWW%
3) WW%%WWWWWWWWWWW
T IR, -
@) mm%mwmwwwmmm

In the @ef product method of nationa] incgme calculation, which of the following is true ?
(1) National income ls a sum of all factor payments.

(2) National income is a sum of a] money expenditures at market price,

(3) National income is the sum of ¢&y;, wages, interest and profits minysg depreciation.

(4) National income is calculated on the basis of output from all sectors and their market
price.

. I e~ S
T ST 9T/ SPACE FOR ROUGH WoRK
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AN 3““"@@!% 3fey oy g SR AR BER wrefradeh! T
e Tog Al
(1) TR TR T WA e

(@) e TR o 7 Haren s i

Difference between@@and GNP at market price is due to one of the following factors :
(1) Production of total goods and services.

(2) Existence of net factor income from abroad.

®)

). Goods and Services produced by foreign nationals in domestic territory.
(4) Addition of income from goods and services at factor cost.

2. TR Fe Ae—gehe TSI e JiAwdiet Ui Heefl Wieitel sHRoMmeA] JereM fehms
T e Arg fas . T
(@) e i TS S @ I " SR el S,
) WWW%W%WWW.H@HW&EWWWW,
O W et forda S A A 8. fond et deret freih Sueem

HH! TS Wehd.
T 3
(1) % (a) (2) HH (b) - (3) W (o) @) e o
Growth in public debt - GDP ratio 18 criticised due to following reasons. Find out which is
Correct ?

urden of interest which is to be paid out of the current Revenue,

(@) Public debt carries b L5 - o
(b) Public debt often does not yield direct or indirect returns and thus its redemption

becomes difficult.

() Public debt pre-emp
private sectors.

i financial resources and may reduce availability of funds to the

Answer Options :

3) Onl

UGH WORK
Feay R RO
TS i/ SPACE FO P.T.O.
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29. Ereitel faem wret foemm fdwien - 2010 W Heifym amy |
(a) TR forr e e Feht I A U O Segion wey vy (S we ).
(b) <R SR anfr gegeR ¥ < anfen PRI sTey wivemrg e,
(c) S Sfor AreTidtet feren & WG bt s @ wfmmnite T o
(@) e et T o @ A T S e Rt S e

AT ST
SRIeTdent VR feremy @it amq ?
(1) ¥d =R faym (2) faum (a) anfer (g)
() faur () sufer (o) (4) 99 (), (b) afT (C)

Following are the statements related to Human Development Index
(@) The value of HDI lies between 0 and 1 (both values inclusive).
(b) Birth and death rates of a country are a measure of long and healthy life.

(c) Inequality of income and wealth is one of the three dimensions considered for the
calculation of HDI.

(d) Mean years of schooling is used to measure ‘education’ dimension of HDI.
Which of the above statements are true ?

(1) Al four statements (2) Statements (a) and (d)

(3) Statements (b) and (c) (4) Statements (a), (b) and (c)

30. mﬁ%m@mw@%mmﬁmﬁﬁ%m@m
T T A ?
(1) 16 =4, 2017 ' ) 16 W, 2016
(3) 26 =T, 2015 (4) 16 A, 2015

When did the Govt. of India set up a “Task Force : Elimination of Poverty in India” Sidaihe
NITI Aayog for eliminating poverty ?

(1) 16 March, 2017 (2) 16 March, 2016
(3) 26 March, 2015 (4) 16 March, 2015
31. HHEHER BIUR Sheony ey U,
(1) FR® (2) - durfm (3) w@ @) s
The audit done by law is called — __ andit
(1) Continuous (2) Statutory (3) Government (4)  Annual

FHe=AT HIaTEret W/ SPACE FOR ROUGH WORK
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() T AT 22 5 Rk 203 g e 2 3 9 Freh ) s e

it BIOR/ DTS/ A s

(1) 9 (a) TR M, Q) (b) T R

() (2) ST (b) SRR MR, (4)  (a) 3T (b) T A

Consider the following statements in the context of Annpurna Scheme :

(@) Government of India has announced Annpurna Scheme in the year 2000-2001.

(b) Under this scheme wheat of ¥ 2 per kg and rice of ¥ 3 per kg is supplied.

Which of the statement/s given above is/are correct ?

(I) Only (a) is correct (2)  Only (b) is correct
(3) (a) and (b) are correct (4) (a) and (b) are'incorrect

33.

_

(@) Establishment of Regulated M

St L

%T yGH WORK
HTHHTS T/ SPACE FOR RO e

WWMQMWWWW'WW%W?

(a) Tl STSTRUST SO (b) ST AR WRFr0y
(c) eI TTgA (@) STk e
T I

M) (a), (b) anf1 (C) (@) (@ () 3t (d)
®) (), (c) enfor (d) (4) ST T
Which of the following remedies are useful in to improve Agricultural Sales System in

dia ?
kets (b)) Conducting Weekly Market

() Establishment of Warehouses (d) Facilities of AGMARK

Answer Options :
D @), () and (0
®) (), (¢) and (d)

(2) (@) (c) and (q)
(4)  All of the above

—-_
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34, A JREM ¥Rw 2015 =9 SfeA .
(a) M AN ST WewH FA
(b) GRS T FHTOTE ST Hid HOATHE! Tedw oy
(c) STISHTET SIST TehGTTd 0!

d) =« ad

Tt I

(1) (a) & faum R TR ) (a) =f (o) A= FaEm SHER SR
(3) W (b) faum sl M. - (4) I (d) faum TR TR ’

Objective of the New Urea Policy-2015 is
(a) Maximise indigenous urea production
(b) Stimulating to use urea in maximum proportion in agriculture
(c) Rationalise subsidy burden

(d) Above all

Answer Options :

(I) (a) statement is correct (2)
(3) Only (b) statement is correct 4)

(a) and (c) both statements are correct
Only (d) statement is correct

35. wogw RER i St w1 oR ?
(a) 2019tr«:fﬁmmuﬁzarégaamw
(b) HFTA .
(c) a1 AT STAHHROL.
(d) wmmmmw
qarEr I
(1) (b) 30T (c) ¥ < Foreim =R are,
() (d) ® faur st 3T,
(3) (a) M (b) & faum =R 3ea.
@) (a) ? foum SR TR

What is the aim of Jalyukt Shivar Abhiyan ?
(a) To make Maharashtra water drought free state by 2019.

(b) Magel Tyala Shettale (Farm ponds on demand).
() Murdu and Jalsandharan.
(d) To stimulate to use drip method for irrigation.

Answer Options :
(1) (b) and (c) both statements are correct.

(2) (d) statement is correct.
(3) (a) and (b) both statements are correct.

(4) (a) statement is correct.

e —

F==qT FHITETST SN/ SPACE FOR ROUGH WORK
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(1) e, a9, e @) i =, T
() I FTL, T @) R, T,
The government has introduced “Operation Green” to address price volatilityin______
Crops.
(1) Onion, Garlic, Chillie (2) Rice, Jawar, Wheat

(3) Sugarcane, Cotton, Tobbaco (4) Tomato, Onion, Potato

37. TRid [y foarm =0 .
() -1, RENT.-2 o gren gra SR ST
(b) HRRIZIA WO, S, S a1 e fieena g frshfaar.

gt 3T
(1) ¥ (a) SRR TR, (2) 9B (b) T R
(3) (a) 3T (b) SR 3. @) (a) STfOT (b) w STRA.

Consider the following statements :
(@) B.D.N. -1, B.D.N. - 2 are the advanced varieties of green-gram.

() In Maharashtra green-gram produced in districts of Parbhani, Jalana, Jalgaon and

Dhule.
Answer Options : '
(1) Only (a) is correct (2) Only (b) is corrfect
) (a) and (b) are correct (4)  (a) and (b) are incorrect
(1) 2014-15 (2) 2009-10 (3)  2008-09 (4) 2018-19
When did the Government of India launch. the centrally Sponsored Poultry Development
Schemes ?
(1) 2014-15 (2) 2009-19 13) _2008-09 (4) 2018-19

39, B 2020 = 372 fwuﬂﬁﬁmmm“ﬁwmﬁ%?

Y g o T amﬂ (3) ToRE | (4)  werg
s ‘ o g ate has invested the most in consolidated sinking fund ?
n j '
0 Tel;ﬂ Of\l ]u;y 2 West Bengal ()  Gujarat (4) Maharashtra
a adu
H WORK
ROUG
= Rl WA/ SPACE FOR P.T.0.
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40, 1995 WIS SHeRTSTa e ¥R ¥ Wewm i e e TRl e

(1) e S = (2) VEFRiTld geaR

(3) visadmR waifea = (4) WEE anfifer waww

International Co-operative Alliance of 1995 has not adopted as the new principle

of co-operation.

(1) Autonomy and Independence  (2) Co-operation among Co-operatives

(3) Limited Interest on Capital (4) Members Economic Participation
41. SISl S

(FrsT) ()

() T USRI UTHTor gaehian Tfier (i) 2 SIS 1980

(b) TCTYHRS fohr HrswA | () 1970-71

(c) I Rt afor SaAsR ek SRiwA (i) 1971

(d) TeRIEHF TTHtor foreRr iRy (iv) 15 AT 1979

it I | '

(1) (@-G), b)), ©-(v), (@-G) () (@)-G) )-(v) (©)-(H), (d)-(i)
(@) (a)-@v), (b)), (©)-(), (d)-()  (4) (a)(), (b)), (€)-(v), (d)-0)

Match the following :
(Scheme) (Year)
(a) Training of Rural Youth for Self Employment () 2 October 1980
(b) Small Farmers Development Programme (i) 1970-71
i) 1971

(c) Marginal Farmers and Labours Development Programme
(d) Integrated Rural Development Programme
Answer Options :

(1) (-G, ®)-0), ©-(v), (@) (2 (a)-() O}) (©-{E) (d)-G)
) () (a)-(i) O @) (@-0)

(iv) 15 August 1979

3) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i
42, TRRTETC TR SRITAICT TEet 19T sl G 1983 HEA IO Stefaesiiea Arieirarct

T ToaeiA |iHdt Tfud et gt ?

(3) fam. TR @) o qE

Under the guidance of which economists, a Truth-Finding Committee was set up in 1983 to
study the regional imbalance in Maharashtra ?

(1) A.S. Sharma (2) Vijay Ketka-r
(3) V.M. Dandekar 4) R Radhakl‘lShna

e HTHTETS! ST/ SPACE FOR ROUGH WORK
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g3, T mm%ﬁmfﬂmaw:
() T SRISHTR SHTERTRISh e
() TR SUSTTRY Geft g,

() T ST TR e e WO TR,
! B/ d /Y s Sy

(1) %92 (a) A IR, ) ¥a3 (b) & .

() @) FTE M gy (o anfr (o) s e

Consider the following statements in the context of unemployment in India.

(a) The marginal productivity of disguised unemployment worker is zero.

(b) The urban unemployment is not open. |
() Frictional unemployment is a result of imperfections in the labour market.
Which of the statement/s given above is/are not correct ?

(I) Only (a) is incorrect * (2) Only (b) is incorrect

(3) (a) and (b) are incorrect (4) (a) and (c) are incorrect

4. T areTet v WeT WTEE T = wEe a
@) T wewrt . -
b) Toeer Hegert Temrl o0, |
(©)  Wufira raepry Sty amfon AT FoTe e
d)  mufqes it el FAgE! el
W) @, p e @ ©OTD @ @ 6@ @ i v
The short-term rural co-operative credit structure in India consist of
@) State Co-operative Banks.
) District Central Co-operati’e Barks.

© Py : Agricul
mary Co-operative . e
9 P‘imarryy Agrifultural Credit Co-operative Societies,

tural and Rural Developments Banks.

@), (b) and ('C) @ ® @ @ O @ G and@ @) Alof the aboye

wo
TS ) SPACE FOR ROUGH WORK

P.T.O.



http://scannergo.net/?utm_source=pdf&utm_medium=watermark&utm_campaign=scannergo

WWwW.byjusexamprep.com

m BYJU'S

L14 1.8 &
45. R HeF frwmR quRugs e B 2

(a) R (b)) S v

(c) Y @&y (d) SNRYSTET IYeTsern

TIiEt I

(1) H (d) @ @sfre).

(3) (b) MT(c) @ @)t

Which factors determine the size of economic holding ?

(@) The Fertility of soil (b) Method of cultivation

(c) Nature of the crops (d) Availability of market

Answer Options : |

(1)  Only (d) (2) (a) and (b)

(3) (b) and (q) @) (@), (b)and(c)
46. T A o T o < T e g o e T e st e 2

(a) RSl TAHSIAIST HATEl WeTH IOl
(b) g Fefor Tohed ot v o
() M VqeHATl SRl SEa

(d) M IAqHAES! qaq Graure Ffid s

i I
(1) e (a) o0 (d) ,(2) (D)
(3) EH (c) 4) (a), () 3 (d)

National Bank for Agriculture and Rural Development set up the Rural Infrastructure
Development Fund for which objectives ?

(a) Making farmers capable to repay the crop-loan

(b) Granting loan to complete minor irrigation projects
(c) Increasing the productivity of the small farmers

(d) Creating loan facilities for the small farmersl
Answer Options :

(1) Only (a) and (d) (2) Only (b)
(3) Only (0 4) (a), (@and (@
-— e ———

HoAT wMTEG ST/ SPACE FOR ROUGH WORK
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47. T 5
mmﬁwamﬁwimwmwuﬁaﬁﬁmﬁw

. e ?
(1) T HRRIE —
B . TE (&) . @i

o . B
According to National Sample Survey criteria, which economist have objected to the criteria

set for poverty measurement, b, . .
i e thl
expenditure ? : ed on data of calories per day per capita monthly

(1) S. Mahendra Dev (2) Utsa Patnaik
(3) S.D. Tendulkar (4) C. Ravi

48. U IREA T SINEMART (NMSA) Fromt @i Wt Hoamet uar aaref ?
(a) T R BRI S
(b) e A ARSI A At -
() mgﬁmwmmm%ﬁﬁwmwﬁmmmwm
(d) T, diges SN el AT SR HE TS SV,

RRID R £

(1) e (a) 7M1 (d) (2) &K (b)

@) w (c) (4)  (a), (b) 370 (q)

Which targets were given O National Mission for Sustainable Agriculture (NMSA) to
achieve ?

(a) Bringing Green Revolution of Eastern India.

(b} Enhancing Public .nvestment in agriculture,

()  Enhancing food security’
tional Production of wheat, rice and pulses.

protection of resources, biodiversity and genetic resources

@) Bringing about addi
Answer Options :

1) Only (a) and (d)

) Only (o

e H WORK
%\q R ROUG .
TS o/ SPACE FO By

(2) Only (b)
(4)  (a), (b) and (d)

™
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49. LW WesR -fash G (NAFED) &7 Sfees e .
(a) AT W&
(b) I faawo
(c) Ve frafa 5 s
(d) =t TR @
At I
) e @2 EFE) (@) wwE(@Q (4)  (a), (b) 3N ()

The main aims of the NAFED (The National Agricultural Co-operative Marketing of India
Ltd.) are

(@) Procurement of agricultural commodities

(b) Distribution of agricultural commodities

(c)  Export and Import of agricultural commodities
(d) None of the above

Answer Options :

(1) (b) and (c) (2)  (a) and (b) (3) Only (d) (4)  (a), (b) and (c)
50. GClIeTieRt IOl HHE SRAH Fieiftr Ffty aehrl Tl Sl 3 ?

(@) A HieTw -

(b) kst 3nfUr I forsht oA oA sqarg

(c) WHfea fawm

(d) YRRl THET

T SN

(1) F9% (a), (b) MW (c) () ¥ (b), () M (d)

(3) %A (a), (b) 3T (d) (4) oieriet gd

Which of the following are problems of Primary Agricultural Credit Co-operative Societies

in India ?

(a) Inadequate Capital
(b) Lack of co-ordination between loans and agricultural goods sale
(c) Balanced Development

(d) Problems of overdues

Answer Options :

(1) Only (a), (b) and (c) (2) Only (b), (c) and (d)

(3) Only (a), (b) and (d) (4)  All of the above

Foeat smrarel W/ SPACE FOR ROUGH wogk
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(d) IR

i 39T

1) *H @) (@ A (a) s (b)
(3) Thekd (C) (4) e (d)

Objective of the Accelerated Irrigation Benefit Programme (AIBP) :
(a) To assist for completion of incomplete irrigation scheme

(b) To start new irrigation project

() To assist drought prone area

(d) None of these

Answer Options : '

(1) Only (a) (2) Both (a) and (b)

(3) Only (c) (4) Only (d)

52. T Yoawa e S woer Aol GO Suare Ry v et 2
(2) it ot 30 S o7 i F ST ST .
(b) e @ T 3,00,000 (i @) T FhaT @a F e we,
() S o orgfem T 3 ST STRIICT ST s,
(d) S 1 St SR e
ERIRICE

(1) e (a) 70T (b)
4) (a), (c) T (d) (4) B (c) 3T (d)

Which are the criterias to take benefit of Dr. Panjabrao Deshmukh interest subsidy Yojana ?

: th
@) The crop loan must be paid by the 307 June per year.
® Th ount of crop Joan must be ¥ 3,00,000 (Three lakh) or below.
e am

(C) The farmer should pelong to 5.C.,ST. category.

(2) ®H (a) MU ()

(d) The farmer should be small landholder.
Answer Options : (2) Only (a) and (c
)
8’; (C;;ﬂ)(zc)(aa)m a;qc(ldgb) (4) Only (c) and (d)
’ ' -
ROUGH WORK .
R et i/ SPACE FOX P.T.0.
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(1) T freien S foEwE
(2) dufr ferre Hearsl T F
(3) arertt sienfir S faer

(4) Tt wd , .
Which of the following measures is inconsistent in reducing the regional imbalances in the
development of the state of Maharashtra ? ' :

(1) Rapid development of backward districts
(2) Establishment of legal development board
(3) Development of private industrial sector

(4) All of the above

54.

Grefte faum fa=mm = : | @

(a) WIS T4 WIE 7l e feme et SR

(b) HERIEN S 400 el SR

(c) 400 Ferist THY <Aist 40000 FHAL. e,

T ot faum/3 a3/ 3ed ? [
(1) ae (a) ST (b) AR SRA.  (2) e (a) S () TR A,
(3) a (b) I () e M|, (4) e W .
Consider following statements : '

(a) The Maharashtra State is divided into five river basins.

(b) There are around 400 rivers in Maharashtra.

(c) The total length of 400 rivers is 40000 kms.

Which of the statement/s above is/are correct ?

(1) Only (a) and (b) are correct (2) Only (a) and (c) are correct
(3) Only (b) and (c) are correct (4)  All of the above

55. WY W3l Hfu fHErt QS YE Fan et .
(1) 2 3R 2019 (2) 10 5[ 2015
(3) 14 Hr 2019 (4) 12015
Pradhan Mantri Krishi Sinchayee Yojana was launched on
(1) 2 October 2019 (2) 10 June 2015
(3) 14 March 2019 (4) 1 July 2015
—\h—\_
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56. _ _ . € SUM Aled,
) FEFAEII TR
() @Rt & ECiGt Eﬂaulg;
(@) TR S AR ey
qatdt S
@ e @ ¥ @), @)
B ¥ (), () st (q) (4) ¥a@ (a), (b) T (d)
To eliminate regional imbalances are the solutions.
(a) Resource Transfer
(b) Special Area Development Programme
() New Investment in Private Sector -
(d) Encouragement for investment in backward areas
Answer Options : '
(1) All of the above (2) (a), (b) and (c) only
() (), (c) and (d) only (4)  (a); (b) and (d) only
(2) WageeraT et fam (b)) IS St-fermy
() wferfrer drq gard (©) I
At 3w ;
) ), (o) 3 (d) @ Rt
Agricultural Renewal Action Plan consist of i
() Credit and Insuzance (b) High Yielding Varieties Seeds
(©) Soil Health Enhancement (d) Market
An : .
i sw(: OPum: .C) (2 (@), (c) and (d)
3) » (b) and ( (4) All of the above
(b), (c) and (d)
UGH WORK
T e T /SPACE FOR RO g

k e TR VY LR T T T
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58, Wreie Siedl Sooel :

(d) ST U

@@ (b) (o)
1 O @v) (i)
2 O @ ()
@ ) @) (@
4 (@) (v) (i)
Match the following :

e-Governance Project

(a) Bhoomi
(b) Sarita

() Smart Ration

(d)

(iv)

()

0
i)
(i)

(d) Operation Gramdoot (iv)

Answer Options :
@ (b)) (9
1 @ Gv) (i)
2 O @@ (i
(3) (v) () (@)
(4) (@ @)

(d)
(i)
(iv)

@

(D)

24

States
Rajasthan
Kerala
Karnataka

Maharashtra

F=T FTATEEST ST/ SPACE FOR ROUGH WORK
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59.

60.

25 L14
anfor S
() ST SR § 3wy ey
() TS STIRG F T sy
(@) T SR § T sy
Tt S |
(1) () T 2 @) (a) 3 () Frem g e
(3)  (b) 3Tt (d) farem i amg @ (o faum dmg o
The Goods and Services Tax (GST) changes the system from
(a) Production based to consumption based
(b) Consumption based to production based
(c) National based to local based
(d) Local based to national based
Answer Options :
(1) (a) statement is correct (2) (a) and (c) statements are correct
(3) (b) and (d) statements are correct (4) (c) statement is correct
S e TR, 2018 AV SAEE GENAEI A T Sofined wRa stea 30 Ywined
HHIfere B,
' (a) i Foreferey R
(© e A (@) SR G e
T I

2)  (a), (b) 31T (q)
1) (@), b) Q)
(&)X @ ) (© =g

®) (@), () 3ot (d) in 2018 India was among the top 30 nations in three cat i
According to World Bank’elsr:a ¥ . egories of

ease of doing business, (b) securing credit
(a) getting electricity d e
(c) istering property (4) " protecting minority investors

registering

a), (b) an (4) (b), (c) and (d
B) (a), (c) and (d) :

UGH WORK
FOR RO
" SrraTdt s/ SPACE P.T.O,
e | T T . ————
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61.

26

e ST T W el e Heq@ a1 e Rrreigar 3.

(@) for aTRim b) SR,

(c) TR, el faeft (d) ford Harem

it I

(1) (a) faam 9mg e (2) (b) faum @ amR

3) (a) 3T (b) faum 97 emed 4) (c) 2nftr (d) fqem 9 eea
The centre shares the tax revenue with state governments based on recommendations of :
(@) Finance Commission | (b) RBI

() P.M. Care Fund (d) Finance Ministry
Answer Options :

(1) (a) statement is correct (2) (b) statement is correct

(3) (a) and (b) statements are correct (4) (c) and (d) statements are correct

62.

TR I €RON 2011 <t W@ sfige

(a) SR & 96 12 ¥ 14 TR aefy,

(b) 2022 T SR & 100 YTt Sififa FomTR Fmion .
(€) I SeqreHT=R SITfeeh T fererar arefyo,

it 36T
(1) <9 (a) MM (b) (2) e (a) I (c)
(3) e (b) MU () 4) olet v

_—mm———

The main objectives of National Manufacturing Policy 2011 are
(a) To increase manufacturing sector growth to 12-14 percent.
(b) Create 100 million additional jobs in manufacturing sector by 2022,
(c) Enhance global competitiveness of Indjan manufacturing.

Answer Options :

(1) only (a) and (b) (2) only (a) and (c)

(3) only (b) and (c) (4) all of the above

HoAT HMTES S/ SPACE FOR ROUGH WORK
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1950-51 4 2016-17 =1 FRE _ )
Q) ST S me TR W1 e Sfvreearad weiE ST e T @

S S ma’mzom-ww} 53.7 T B,

Which of the followin U .

g statement ' isti ‘ ' H
during 1950-51 to 2016177 e 0ot the characteristics of Indian service secto
(1) The service sector’s contribution to India’s GDP was 53.7 percent in 2016-17.

(@) Interms of employment potential provided to the working population, the contribution
of the service sector was 26.9 percent in 2011.

(3) The :service sector’s contribution to export increased to 41.8 percent in 2016-17.
(4) Service sector trade has always been Adverse.

b4,

eler Fefreh tfuepr Yot 2w a2

(1) = 1992 () TR 1992 (3) SRR 1994 (4) W 1994
When statutory powers were given to SEBI ? :
(1) March 1992 (2) January 1992 (3) October 1994 (4) March 1994

65.

66,

RA R et Ty foehre fosia Fo=h wom S,
(1) <HeR, 1995 (2) SMaEr, 1997
(3) SMEr, 1999 (4) SHaR, 2001 .
The Government of India set-up the Infrastructure Development Finance COEIZ)any in year
(1) January, 1995 (2) January, 1997 B
Januarz: 1999 (4) January, 2001
IRA, 37, o1 g A S BRI, .
() =R F (b) VT d
(©) SRt & (d) it et o
T 3oy

(1) () anfer (d) ferery e e
B (9 anfr (@ et 7
) (a), (b) znfin (d) Fam
(4) wd faury 9 omed £ ey T
Ef;l;e main functions ofvlzrime nt ((l;) Bapkfar to the farmer
© Banter 1o the Bqutialiss () Printing currency notes
e
Swer Options : are correct
(1) (a) and (d) statemen ts are correct
(2) (@), (c) and (d) statemeé tg are correct

®) (a), (b) and (d) statemT

H WO
= Tt s/ SPACE FOX ROURT TORE

P.T.0.
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67. aﬁaﬁﬁwﬁwﬂaﬂﬂmﬁﬁsﬁﬁﬁmmm=
(a) 12wmﬁ$zﬂaﬁﬂaﬁﬁwmﬁ I e IR T, mmm%ﬁmﬂm*"ﬁa‘-@'s““
WG Wehed SET. .
(b) méﬁﬁﬁ@wﬁwﬁaﬂqmﬁ@ﬂmwzozonﬁwmm
.
St IR/ faemA T aed ?
(1) e (a) TR R (2) AP (b) TR AR
(3)  (a) T (b) TS e 4) (a) 301 (b) T ST
f Public Private Partnership (PPT) -

Consider following state

Partnership Project.
(b) Indiain 2020 is second only

ments in the context o
(a) Approach paper of 12th Five Year Plan states th

at India has 1017 Public Private

to China in terms of number of Public Private Partnership

Projects.
Which of the statement/s given above is/are correct ?
(1) only (a) is correct | (2) only (b) is correct
(3) (a) and (b) are correct (4) (a) and (b) are incorrect

68. SR ST el A :

(@) TU (SIS AES) (b)
() e smfor faree (d)
qaidr sl

1) () *E) (2 (o) 3T (d)

Non-commercial Energy Resources in India :

(a) Fuel wood (b)
(c) Coal and lignite (d)
Answer Options :.

() (a)and (9) (2) () and (d)

69.
el

(1) T 2019 ) 2019

The Reserve Bank of India launched its medium term strategy

2022’ in .
(1) April 2019 @)

July 2019

e T S T o e shoeh T IR 20227 T

gy 9
e emfor ag
3) wH(d) (4) (a) 3T (b)
Animal dung
Oil and gas
(3) only (d) (4) (a) and (b)
e gE
4) == 2019

(3) iR 2019
framework, namely ‘Utkarsh

October 2019 (4)  March 2019

(3)

FHoAT SIS WRT/SPACE FOR ROUGH WORK
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L 3 & YR HEA
T e USd) frame 2016 ImwEd AME 2020 A g
W‘gﬁ' Wm%wwwmm
et 2’
oft1 e ‘e 2
X (4) STroers ‘A

s nglegljéf; CiII-:aII:/[ge Management (Manner of Receipt and Payment) Regulations, 2016
e ‘ arch 2020 include as a currency of settlement under

Asian Clearing Union Mechanism,
(1) France’s “Euro’ (2) Bangladeshi ‘Taka’
(3) South Korean ‘Won’ (4) Japanese ‘Yen’

7. fdifee g v st
(a) AR HiSTA UM TG Fratg e
(b) SR FHYYM a&E e w@
() STHIERT FHYYM SR 3w F frafd wtd
(d) oTHfER Ty TR HAM
T I
(1) & (a) () (a) S (d)
Leontief proved that _____—

(@) America exports capital intensive goods

(b) America exports labour intensive goo'ds _
() America exports and imports labour intensive goods

(d) America imports capital intensive goods

QI)ISWS;D? P @md@ @ ey B e

(3) FH (c) (4)  (b) =TT (d)

el
7, faforerg AT AN
+ 1973 =7 fauh b 1 1998 3) W 2015 4) T 2016

(1) == 1978 ge Management Act (FEMA) 1973 was consolidated and
When the Foreign Exchang
?ilnplified ? o july 1998 (3) March 2015 (4) July 2016
1) March 1978
, & e
2 i '
1) 1971 .., was established in :
i
Slum Rehabilitation A“(tzl;o 1995 3 1999 (4) 2012
1) 1971 |
Te— o ROUGH WCRK
Wy ACE F P.T.O.
TSt i/ SP

h, T T T T TEEEEE | e
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74. GEite e e
fo=r e et

() eRTEN for oM ORI EERE =

(b) - <iemar fom st @) 3T W TRem

(c) dan fore s () < SR g

(d) =rEr fag s (iv) & T fan

Wf‘ﬂ'}aﬁi‘:

(@ (b) (0 (9
) (v) @) @ @
(2 @) @@ @ ()
) @) O @ @
(4) @) (@) (@) ()
Match the following :
Finance Commission Chairman
(a) Fifteenth Finance Commission (i)  Dr. Vijay Kelkar
(b) Fourteenth Finance Commission () Dr. C. Rangarajan
(c)  Thirteenth Finance Commission (ii) Dr. Y.V. Reddy
(d) Twelfth Finance Commission (iv) Shri. N.K. Singh
Answer Options :
@ ®) () (@
M @) @) @ @
@ @) @ 6 @
@) @ @ @ G@
@ O @ @ G

75. WS HITIR U9 AIUEE 3R,
(a) VISR QeI BEAY TIE
(b) TF TE TH GHAT T Ao anfefer vy

(c) HHIRIGI g

(d) TSHHE g

Tt I

1) @O Q) (@), ) @) ww®@ @) (O = )
The parameters of the strong trade union are :

(a) Non-interference of political parties

(b)  One union, one industry and strong financial resources

(c) Working class leadership

(d) Political leadership

Answer Options :
(1) (a) and (b) (2) @, (b)and () (3) only(d) (4)  (0) and (q)
— e
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76. T . it FIORY /oA HROT/HRO SR/ 3T ?
o IdH L

(1)

) LERIRIEIRSRIE!

@ e

Which of the following are the cause/causes of industrial sickness in India 7

(1) Highest rates of taxes

2) Lack of technology

(3) Trade cycle of economic boom and depression

(4) All of the above
77, T 2018-19 WE AT & YR 92 TR Seeleh! Bl 2

(1) iEEh™ 2) fodfta qan

ERlEE!

(3) T (4) s

In which sector Foreign Direct Investment was the highest in the year of 2018-19 ?

(1) Construction (2) Financial Services

(3) Transport (4) Manufacturing
78. Wi faem fae=mid =T

@) R i

b) frw Wﬁwmmmwmmmﬁm

o FHTaES! TS SST HE e Ta hell Bl
O e s S ok
Tty o/ e/ e e .
R A (2) W (a) ST (b) I TRA
(1) e (a) ST ()
e ST @) =t wd
(3) e (b) () L
. ing statements

Consider the followmfhe direct responsibility of the Central and State Governments.

(a) Major p(-ths aret N e ged and administered by the respective State Governments,

(b)  Non-major ports Board-vas set-up for management and development of minor

(0 TheTatior Harbout

ports. t/s given above is/are correct ?

Hhisaedgan s re correct (2) Only (a) and (b) are correct

(1) Only (@) and O3 "~ ¢ (4 Allof the above

() Only (b) and (9 ¢

oR ROUGH WORK
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7o, ST ST rerie e e =TT (2007-08) sirehfirr Foeprarren gt < febll <l ?

(1) 65k 2 75%@8 () 80T (4) 85T

How much was the growth rate of industrial sector in first year of eleventh plan (2007-08) of

India ?

(1) 6.5 percent (2) 7.5 percent (3) 8.0 percent (4) 8.5 percent
80. aﬁww@_@”%w 3 ?

(1) (2) TIHSTS, (3) TE (4) A

In which state “Gyanadoot Internet Service” is started ?

(1) Kerala (2) Tamil Nadu (3) Gujarat (4) Madhya Pradesh
g1. fori anfefer &t e e el O FOAM ST 2

(1) 2002 (2) 2003 (3) 2004 (4) 2005

When was the Special Economic Zones Act passed in parliament ?

(1) 2002 (2) 2003 (3) 2004 (4) 2005
82. Hgr=l TATA .

(a) % TWHR (b) I TEHX

(c) et & (d) foe ot

Tt I ¢

1) (a), (b) Faum 7T 3Teq

@) (o) faum 44 ot

@) (d) faum 9 o

@) o faum @ TRd

SEZ can be established by :

(a) Ce‘ntral government (b) State government

(c) Private sector (d) Foreign comp .

Answer options :

(1) (a) and (b) statements are correct
(2) () statement is correct

(3) (d) statement is correct

(4) All statements are correct

83. wmmmmzolsﬂ;ﬁmﬁwmmww@?ﬁ?

1) T TR

gN)hjch state had the la(rzg)est instal ) i, o L

g stalled electricity generation capacity on 31 March 2015 in

1) Gujarat 2

(1) jara (2)  Maharashtra (3) Rajasthan (4) Madhya Pradesh
— T
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84 S i
(1) 2011-12 @ s W ~0.1 TFF FHMHE Bl ? .
& . 2016-
[n which year the rate of e 4‘ (3) 2015-16 .(4) .
) 2011-12 of industrial production was negative at —0.1 percent
;. @ 2013.14 (3) 2015-16 @) 2016-17

g5, T4 SUH WEHSRT oy
(1) I TR A0 Gt gy
(2) T VR S &g wew
(@) T o, T0 WER o o
(4) TR TR

State Financial Co-operation was set-up with co-operation of

=1 A el

(1) State Government and Private Sector
(2) State Government and Central Government
(3) RBI, State Government and other banks

)
(4) None of these

86, ST eI TrEure S Sa-n o fAfHdt shidr 2
(1) TP ST TR TESe
(2) T v TSP
() g oo R oS
(4) e §&

Which of these Indian publ i "
(1) National HydIOEIEClIiC Power Lorporation

Corporation
() Nuclear Power wer Corporation

cly owned companies generates electricity ?

(3) National Thermal PO
(4)  All of the above
i 4 Tt Skl
et e 7 T (3) 8w 4) 9TFn

2) .
1) 6eFh ofIndiawas ___ on 14 June 2014,

; , eB
REPO rate’ of ReserY ) 7 percent (3) 8 percent (4) 9 percent

R ROUGH WORK

2 et e/ SPACE
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88. HH W WU 3R
(a) Tt opan, senin SEUN FHaeE &
(b) AR} Sehi= UTEeRIAT STEHURT AT &
(c) HEHR hiaT AEH STHUN T K
(d) SR fem = X

Y T
(1) (a) faum 9rg s (2)  (b) 3l () faum dra ema
(3) (b)), (c) 3nftT (d) faum g amRa (4) (d) foum 9 o

The Bank Rate is the i

() Rediscounting rate of RBI to Banks

(b) Interest rate of commercial banks to customers

(c) Interest rate of co-operative banks to customers

(d) Interest rate received by the depositors

Answer Options :

(1) (a) statement is correct (2) (b) and (c) statements are correct

(3) (b), (c) and (d) statements are correct (4)  (d) statement is correct

89. WIHR WEHIeTdeht hIvK! for-ferehm @t a2

(a) &GS @ (b) = T

(c) o T (d) &R Heheromarie H
it S

1) (@), @) Q) ) (a), (c) 3T (d)

(®) (a), (b) S (d) @) et o
Which of the following are non-

developmenta] expenditure of government ?

(a) Expenditure on defence (b) Interest payments

(c) Expenditure on health (d) Expenditure on tax collection

Answer Options :

1) (@), (b) and (o) @ (), () and (d)
(3) (@), (b) and (d) . (4 All of the above

A HIHEIS 9/ SPACE FOR ROUGH WORK
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@ T ERA "W%Wmmmwww.

p) SRR WWWHWWWMWW.
sttt PV T T g

@) T @) (2) e (b) A STE

@) (a) ST (b) A7 oM (4)  (a) ST (b) T ST

Consider the following statements

(a) Multinational Corporations help in promoting imports of the host country.
() Multinational Corporations are regarded as agent of modernisation and rapid growth.
Which of the statement/s given above is/are correct ?

(1) only (a) is correct (2) only (b) is correct

(3) (a) and (b) are correct (4) (a) and (b) are incorrect

9.

e O T T S foe A HHI SR 2

(a) RIS AR U (b) o .
O e (d) Fau fa=A
T Y

0 @), &) SO (2) FE (), (c) M (d)
o (4) ThTH wd
(¢) e (b), (©) 31Tﬁ‘T (i)ompments are included in Rashtriya Krishi Vikas Yojana ?
Which are the following I
(a). Ez:;mcement of Soil Health ?;)) Mf:rlc.)alllcr(iagaﬁon
() Agricultural Research

Answer Options : 9 (2) Only (a), (c) and (d)
(1) Ont , (b) and € (4) All of the above
<3; OM§ g ?z) and (4
R LT WH SRHIh ST ?
FHTorcdl
2 Wttt rEIER A 2
RC (2) T
(1) 7o gew 4) TSTEH
0 diron o ﬁ:wralpg)‘l“éﬁa‘fa figecusiey
Which state ranks If

™ S s/ SPAC

(4) Rajasthan

(1) Madhya Prades;a)’aISeema

3) Telangana 2"

H WORK
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93. MWE%WWW2016 et Wﬁémwﬁﬁmm/ﬁ
1) 309 I/ (2) 39 Tm/feq
(3) 487 vm/feA (4) 560 ¥H/feT
According to Economic survey, the per capita net availability of food grains in India in 2016
was __ .
(1) 309 gram/day (2) 396 gram/day
(3) 487 gram/day (4) 560 gram/day
94, SIISAl ST
3T T HTHERH TR a9
(a) SHERF 3 Fee 2002-03
(b) TEC YeAEET drelsh SRR FdFHA 2001
(c) STIRIGH Yool hrfshy 2000
(d) o g S e 2004
qatE SN
@ b © (@
D @) @ @Gv) (@)
(2) @) @) @H @)
(®) @) () @) ()
(4) (@) @@ (v) @
Match the following :
Food Security Programmes Year of Start
(a) Antyodaya Anna Yojana 2002-03
(b)  Nutritional Programme for Adolescent Girls (i) 2001
() Emergency Feeding Programme 2000
(d) Village Grain Bank Scheme 2004
Answer Options :
@ (b) (o (@
(1) () @ Gv) (i)
2 () @ @@ . G@w)
3 (v) () @) (i)
(4) @) @) @) @)
\
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Mid day meal sc'he.zme Programme wag 15t
municipal corporatiop,

1) Madras

5) Kolkata

(4) wWER

(2) The great Mumbai
(4) Hyderabad

BYJU'S
Li4

1 TR S

time introduced for disadvantaged children in

96, @@Eﬂﬂﬁwaﬁ‘mmaﬁf'wmwmq@?

(1) ToEERAET STl e () dowa EEEE e
(3) o FIFAEE! UTO w (4) el TReEE! S e
- Which of the following is not referred as a ‘consumption loan’ (Credit) ?

(1) Loan for pumpset (2) Loan for medical expenses
(3) Loan for religious ceremonies ~ (4) Loan for educational needs

97, foEm STETEET EeteE S A TarS sehHTha TEe ST 2
(2) Wit 9 foemre fredt
(b) iy wireivor Seirer SEA e
() iy gy e
@) wa snfor forta & fef
T Ty

. L) 'Fq'ql':? m 33"%'(:[
Q) (), (b), (c) faum I 3 2 (@), (0), @)
@), (b), (c) WY ettt < i o
s are maintained by NABARD Bank for development activities ?

B ), (), (@ fasr 4 T
Which of the following fur d
(@) Research and DeveloP
() Agriculture and Rural
() Rural Promotion COP

ment Fund
Enterprises Incubation Fund

us Fund

: o5 Fund
(@) Credit and Financial Semcei
AlnSWEI' Options : rect (2) (El), (C), (d) are correct
(1) (a), (b), (c) are cor (4) All the above are correct

(3) (b), (C), (d) are correct
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-
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98. A HiY arefuren anfor Lo Ty Hee 39 fom o,
(1) I @ T @) e (4 %
National Institute of Agricultural Economics and Policy Research is located at
(1) Chennai (2) New Delhi (3) Hyderabad 4) Mumbai

99. eIl IV Idt Aer Sed-Seqeshaal HRO! T ?

(2) g e W

(b) I FifrRIF

(c) Vit &= STYTeA STOTRY ST & Srehrderd I

(d) Wt GEeE

Tt ST

(1) F (a) AN (b) (2) e () ST (d)
(3) 9 (a) M (c) (4) e (b) ST (d)

Which of the following:are not causes of the low productivity in agriculture sector ?
(a) Inadequate irrigation facility.

(b) Mechanisation of Agriculture.

(c) Old and inefficient machinery used in agriculture sector.

(d) Agricultural Research

Answer Options :

(1) Only (a) and (b) (2) Only (c) and (d)

(3) Only (a) and (¢ () Only (b)and (d)

100. ETEHeTdsht HIvwl Te YR H STH qftue, 7ot feei= Fal ST FHIE T 2
(1) vmeerd IIEE WA i R et e g 2, W T 9 W 20
(2)  TUTEETYYl WG HHE R Qe vt By feonen e YEH w0 9 Wy ),
(3) STl SN RETHIHTOTHISt et Jeqrees SO TTTH 0L,
(4) ot freor, TR ST forea shretmed sy, eeprd ST el 0

Which of the following is not mandate of Indian Council of Agricultural Research (ICAR)

New Delhi ?

(1) Plan, undertakt.e, co-ordinate and promote research and technology development for
sustainable agriculture.

(2) Aid, impart and co-ordinate agricultural education to enable quality human LTS
development. r

(3) Establish Farmer producer companies for economic empowerment of farmerg,

(4) Policy, co-operation and consultancy in agricultural research, education and extension,

—\_
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1) 13.6 :
" @) 148 (@) 216 (4) 187

According to FAO estimates i, ~
2018 report, what percenta emf The State of Food Security and Nutrition in the World,
) 13.6 : ge of population is undernourished in India ?
@ 148 (3) 216 4) 18.7

102, e JooT

(@) E Rl i 1958

(b) m v (ii) 1968

S fore T @) 1975

:ﬁw 9 T (iv) 1982

L _

@ B © @

n @ @ 6@

@ @v) @ @ 0

6 @ @) G 0

@ @ @ @ 0

Match the following :

" Agricultural Fin::lz(ial [nstitutions . Year of Establishment

a) Regional Rural Banks i) 1958

() NABARD (i) 1968

() Agricultural Financ® Corporation  (iii) 1975

d Agricultural Credit COIPOI'?“'iorl (iv) 1982

Answer Options :

@ ® © @

M @ @) (@ (iv)

2 (@v) (i) (id) @)

@) @) (v) @) (9
¥ gy s/ SPACE FOR ROUGH WORK

P.T.O.
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103. WS famo =eedgy  fGoOTESt 1998-99 sy MY FRum 3= FI AN GE
el
(a) Tigw b T (© Vaha (d) |
qaidt 3T ;
(1) 9@ (a), (b) 30 (@) (2) w9 (@) s (o)
(3) Fa® (a) a0 (b) (4) 9 (b), (¢) anfir (q)
A Food Coupon Scheme was introduced in Andhra Pradesh in 1998-99 for distribution of
through PDS.
(@) Rice (b) Wheat () Kerosene (d) Sugar
Answer Options :
(1)  Only (a), (b) and (d) (2)  Only (a) and (c)
(3) Only (a) and (b) (4) Only (b), (c) and (d)
104. VTHT I oA Wee J0ATEE) A M @ T Hrer SR S ol &
EIEE| fospten wwifores foswmmEt .
(1) T, FHiq 7l G2 (2) fe@ @a
(3) @I 7T i (4) wE T A T
A new scheme “Operation Greens” was announced to promote Farmers Producers
Organization. The scheme is for integrated development of Crops.
(1) Tomato, Onion and Potato (2) Green Manure
(3) Tea and Coffee (4) Spices and Plantation crops
105. ‘¥ AARTFIT FAHE' (SWAM) § 1o Geanfeiss drenid T1et S0 o7 2
(1) 10 St Weafu s 2) 123 Taariis dem
(3) 13t HeEf s (4) ot Yerarfiien droEn

In which five year plan, Sub-Mission on Agricultural Mechanization (SWAM) was
introduced ?

(1) 10t five year plan 2)

; 12th five year plan
(3) 13t five year plan @)

9th five year plan
Ay - i

106. WA WW“WW”WWW@?

(@ T ©) o T F
(c) . fosrm AR @ @ B
it 3T
i ) @) () 4 (@
Who is considered as the Father of Ingjan Space Program ?
ga)) gakifsilllqsﬁrén ?abhai (b) Dr. A.P.J. Kalam
C T. a a :
Answer Options : (d) Dr. Homi Bhabha
0 9 2 @ 3) () 4 ©
- .9 Lot
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e R ey
7, A TR <
. 1) T 42,000 fe =, S wEE e
SASIE 20,000 fi iy (2) 200 f&.. @ 1000 foR. A =1 A

&)

The height of Geostationary o (4) Se@uE 36,000 foh.H.

an artificial satellite, from the surface of the earth is
" About 42,000 km
) '

(2) Between 200 km to 1000 km
g e (4)  About 36,000 km
R
1°3°“‘“’“W@mi‘“ﬁ*mmm)wm A ST S
) E (2) T ot (3) <eurh ) e
Fora homogenous reactor using natural Uranium (U28), the moderator must be
(1) graphite (2) ordinary water (3) heavy water  (4) carbon

109. Eefe =hrord/ @ faem/A g ar/q2
(@) A % Tosieafoas To ofeda snf foemomamst wer af=n o diiifers e oTe.
(b) e T g R HEets T e e o,
TaiEt I
(1) (a) AT R, (b) 3T M
Q) (b)Ara TR, (a) AT T
) (@) F R, () q T
o) (2) i 3T, (b) A T

Ch f t te S ].'S are corr t ?
Whj. 0 W.Ill sta ment/ / ecCct ¢ .
a Bhu‘lall 1sa GEO'pOItal cC I g I LEL]‘ Eata SEI vices a“(l I ()()IS fol- Analy,sl :

() MOSDAC is a data repository for all meteorological missions of ISRO.
15

Answer Options :

(1) () is correct, (b)
() (b) is correct, ()
() (a) is correct, (b) 15

is incorrect
is incorrect
correct

(a) - ct
0, 7 g% e g A 1 I Wa:q'% .@; wafaa Sere
g G i :’ mm’( el et : '
-1 & ST e ol (3) e (4) i
0 ¥ (21)1 qunched by ISRO using PSLV-CS 1 on February 28, 2021, is a
i ?
AmaZIOn_ia = 15 SUCCESS? e)i-ate d by y.VhICh COllI‘lsh‘y .B i 1 |
Satelljte designed an 2 Argentind (3) Brazi (4) Coloumbia
H WORK
R ROUS P.T.O.
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111.

42 C
SRR T YA, SR TIATTH B iy wifrasiey oot 198 A 2
(@) WX (b) T (© 3w
AT I
(1) (a) (2)  (a) 3T (b) Tt
(3) (b) . (4)  (a), (b) 3fir ()

In which of the following role/roles, heavy water can be used in pressurized heavy water
nuclear reactor ?

(@) moderator (b) coolant () fuel
Answer Options :

(1) (a) only (2)  (a) and (b) only
(3)  (b) only (4) (@) (b) and ()

112,

ISR Sosit T o refteria St faur e oa ?

(2) it THfEct <wmar Brom Hrear el woer HRA BHEEES 97 i .

(b) amwmwﬁmmﬁﬁfﬁaﬁso%ﬁwmﬁgﬁwwmm.
(©) WWWWW%WWWW@:W@@

(d) RIS Fle2¥lleR ST ata iy sifoores vt wehed 78 39 a7,

Tgfadt 3

(1) (a) SO (b) Fe (2)  (b) e (c)

(3) (a), (b) 37 (c) T 4) (b), (c) ¥nfor (d) T

Which of the following statements are true regarding use of coal for energy productiop 7

(a) Incomplete burning of coal during energy production process produces carbon mongyiqe
gas.

(b) Presently more than 50% of the tota] electric energy generation in India is frop, . Gl
(c) Coal burning for energy production may contribute t acid rain.

(d) The largest coal based thermal power plant in Maharashtra is at Turbhe,

Answer Options :

(1) (a) and (b) only (2) (b)and (o) only

(3) (a), (b) and (c) only (4) (b), (¢)and (d) only

HoAT TS S/ SPACE FOR ROUGH WORK
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o A= M :

113-W2 %xmﬁmmawmﬁﬂé?
o = i 1 W Ty g aferdia S HeT e,
() e Wmmmmwm-
(d) 0 ST TR WK 231y ey it a7,

(1) & (a) AT IR,

@ (2)F (b) 3 SR W (0 7 (4) i s
@) (a), (b) T () I A W (d) 3wdrg o,
@ (@) (b) () T (d) ¥ 93 o

Why was the Lunar South pole targeted for exploration in Chandrayaan-2 mission ?

(a) The lunar surface area that remains in shadow is much larger in South than that at the
North pole.

(b) There could be possibility of presence of water in permanently shadowed area.
() South pole region has craters that are cold traps.

(d) The cold traps contain a fossil record of early solar system.

*Answer Options :

(1) Only (a) is correct.

() (a) and (b) are correct while
are correct while (d) is not correct.

(c) and (d) are not correct.

() (a), (b) and (9)
(4) (a), (b), () and (d) are correct.
114, aﬁawmmﬁq@a‘fﬁﬁ%@, SEAE S SR
(@) e 2o oMl ) f;‘jﬁ“m
© oo e gomed @ e
W'ﬁﬁ‘ H '
(1) (b) (2) (a) . ) (@) @) (o)
Godavari Green Energy Limi ted, Jaisalmer uses _____ technology for concentrated
Solar Power. (b) Dish Engine S
tem . ystem
0 Povec T 7| (@ i P
Answer Options * @ @) () @ ©

B
R ROUGH WORK

FO
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115. 2019 Wi, SgaM-2 o1 AT GO FRAIEH, ARV stde yAgE Ad_ ®
3.
(1) GSLV MK II-M1 (2) GSLVMKII
(3) RH-560-MK-II (4) PSLV-C50 /CMS-01
The name of launch vehicle which was used in Chandrayaan-2, India’s Second Lunar Mission
in 2019, is .
(1) GSLV MK III-M1 (2) GSLV MK II
(3) RH-560-MK-II (4) PSLV-C50/CMS-01

116. T4 2022 Fq TAHT0 HIUAET Sofl ST WA 6T 7 3T 2

(1) 100 GW (2) 50 GW (3) 175 GW (4) 225GW
What is the proposed target of renewable energy production to be achieved by the year
2022 ?
(1) 100 GW (2) 50GW 3) 175 GW (4) 225 GW

117. SRdredt st HHd wriwmaren o ey 7e U233 ¥80@ . gR WIW SUR o
(1) U-238 9 37 T () U-235 3 31 T
(3) Th-232 3 1Y ¥ (4) Th-230 & ST TR
In the third stage of India’s Nuclear Power Generation Programme U-233 fuel will be obtained
from

(1) nuclear transmutation of U-238 (2) nuclear transmutation of U-235
(3) nuclear transmutation of Th-232 (4) nuclear transmutation of Th-230

118. STfoa Fa=A=1 facede Aavaret ot sqamos faemret ool 160 HIOE 3 2
(2) SfUds FEATH HEd @ e
(3) emfoas Feen feer Y wedwmigmeh e
Which is the most widely accepted way of disposing nuclear waste ?
(1) Disposal of the nuclear waste in Space
(2) Burying the nuclear waste under the Seabeds
(3) Burying the nuclear waste underground in stable geological formations
(4) Keeping the nuclear waste in nuclear power plant

oAl HATEIE! ST/ SPACE FOR ROUGH WoRK
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iy S - B W Wi IV SRiaR AT STHd ?

(b) T STHCR e vy

(d) T A

Tt I

(1) (a) ST (b) FeFi (2) (@), (b) 3 (c) e
(3) (b), (c) SO (d) Fer (4) (), (c) M (d) Ferl

On which of the following factors does the power available from a wind turbine at a given
site depend ?

(a) Density of air at the site

(b)  Speed of wind at the site

(c) Area of the rotar of wind Turbine
(d) Humidity of Wind

Answer Options :

(1) (a) and (b) only

) (). (o) and (d) only

(2 (@), ®) and (c) only
() (a), (0) and (d) only

- aaﬁﬂmmmvaSLvmmuanﬁ%QWﬁaﬁ,aﬁma

- 3R

) o e & 9 (V559
Q) g, wE T I8 (UES)
(3) ety ygq @d X ss9)

. it (SAC)
(4) og sy 9 ( ikota from where the launching operations of Satellite

Grihar _ :
The nName of cenfre OfSLV are carried out,is __
aunch Vehicles PSLV an o Centre (vSsC)

@) Vikram Sarabhai 5p antre (URSC)
) U.R. Rao Satellit® 'y Centre (5DSA)

ce
) Satish Dhawan SPz:;erlt:re SAC) 5L

(4) Space App]jcati.()ﬂ
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121. HLUHTH, =1 99 B =41 Hewid ot HH S AR ?

(1) e w=Ed ™ (2) 2 vy wEw
(3) HUHSIT wrEA ™ (4) HERE vew wiiw
What is full form of CSS with reference to Web Hosting ?
(1) Current Style Sheets (2) Current Sheets Style
(3) Cascading Style Sheets (4) Cascading Sheets Style
122. HHII €N SFRIH 1 (SHA-1) = message digest S = STl
(1) 160 siem (2) 512 ste™ (3) 628 Wfiew (4) 820 <™
Secure Hash Algorithm 1 (SHA-1) has a message digest of bits.
(1) 160 bits (2) 512 bits (3) 628 bits (4) 820 bits
123. SLTLHLT, Z=Ed. (UDP) 9 5, 1 AR HeRlel Aifedt Tefavaraet #.
1) 66 2) 67 (3) 68 4 69
DHCP uses UDP Port Number for sending the data to server.
(1) 66 2) 67 (3) 68 4) 69

124, STRIRAYE TeFTels (IT) FTEET 2000 373, ST (hacking) SIS Wefter faen fuifg Sreft
3R ? :

(1) TEE™ 2 FHwdd 312 <8 3 oy Tyaiedq et S
(2) TETE™ 3 TUEd AT S 2 g Tyaiqdq redl S
(3) AN 3 TUHd e €T 3 W wqERq e SR
(4) TETEE 2 THET HUA T 2 g TRty stuel S
According to IT Act 2000, whoever commits hacking is liable to following Punishment -

(1) imprisonment upto two years or fine which may extend upto three lakp rupees or

both.

(2) imprisonment upto three years or fine which may extend upto two lakh Tupees or
both.

(3) img:'isonment upto three years or fine which may extend upto three lak rupees or
both.

(4) imprisonment upto two years or fine which may extend upto two lakh rupeqg or both.

‘_-‘\-__—
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g (class) %y .
ﬁ;m‘l W?T)rﬂmﬁmggmg) ST <ol G (test set) At A A TR e S
S (M) Frarewararet aroceen SOMd eemEe (terminology)

T,
(1) FE AU (Cross validatig

) (2) IR (Stratification)
() ESEChl (Verification)

(4) FeEUT (Bootstrapping)

The terminology used for select;

T tin :
in both the training and test got idata 50 as to assure that each class is properly represented
m Cross walidghon (2) Stratification

(3) Verification (4) Bootstrapping

PV4 SO IPV6 TOTR JoR Eefteriat Sy faum et 3 ?

(a) IPV6 3TSH T 32 bit 37 IFHHA (Hexadecimal) HEA 7RG (represent) el I,
(b) IPV6 ST e 128 bit 37 TH (Decimal) TS FfRIT e .

() IPV4 3TSH B 32 bit 3T TWHM (Decimal) g e e S

(d) IPV6 3TgH 128 bit T RTSHITe TE R e S

Leipics

(1) (a) 30for (o) R (2) (B)FH () (o) e (d) (4) (d) wH

With reference to IPV4 and IPV6 system which statement is true ?

(a) IPV6 is 32 bits and represented in hexadecimal.

b) Ve is 128 bits and represented in decimal

ress is 32 pits and represented o el

(©) IPV4 add _ ‘
(d An IPV6 address is 128 bits represented in hexadecimal.
Answer Options :

P (b) only (3) (c) and (d) (4) (d)only

(1) (a) and (c) only (2

i e 2 g (W0 parties) 7% (value) TEIT (transfer) FUATHIS AT o=

EHTeT el .

0 = @ &1 (Hash) (3) S (Node) (4) A (Token)
k%9 (DAPE | to transfer value between two parties over a block chain network

A bearer instrument 4%

5 called as __,.-/(2) Hash (3) Node (4) Token

(1) DApp
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128. MY TRRTURRTET O TIS(UArs Theh/Thh I/ SRy/em 2

(a) ShTEET (GHz) (b) T e Fererirg
() I8 W Jehg (d) TS,

it 3

1) (a) B (2) (b) ®

(3) (o) e (d) @) i Fne =
What is/are the unit/units of measuring speed of modern Supercomputer ?
(a) GHz (b) Teraﬂost or Petaflops
(c) Bits per second (d) MIPS

Answer Options :

(1) (a) only (2)  (b) only

(3) (c) and (d) (4) None of the above

129. *‘fefsiea sfear’’ deme 3=t a3
(a) R fefaea Qefato
(b) TG 3 Hal=ht AN TER SYesa
(c) Teeneatt diwa cfvery wfan
(d) W AR ST WeE e fefies qranyd gfaw
T S9N

1) @3AmME) @ @) e @) @ @) (), b))
Vision areas of “Digital India” programme are :

(a) Digital Empowerment of Citizens

(b) Governance and Services on Demand

(c) Provide free Laptop to Students

(d) Digital Infrastructure as a core utility to every citizen

Answer Options :

1) @and®) @ (Band (@) @and@ @ @, 6 and ()

130. wid T AL, e AHER, T s e s TER(IERT $RE) el s
YTehdTd ?
(1) 07 =Reed (2) 14 e (3) 21 <A (4) 28 W@y

In block chain, as per the bitcoin standards, what are the maximum number of bitcoin’s that
can be mined or created in the process ?

(1) 07 million (2) 14 million (3) 21 million (4) 28 million

_— =~ . e - =
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B Feu Wq%“ﬁwwwmﬁwqm:
(3) ®) ey .
T (c) die Iehegul (d) fwoaA
) @ © (. ®b) @
fAl)'range the following Pr)oces(b 0.0, ) 3) @) @, @ b @ © @ @ O
() Mashing () ¢ !.110rder, for conversion of barley to beer
Answer Options : Maltmg () Wort boiling (d) Fermentation
, (), (d), 3
O BODE A 0wew e g0on @ © o
132, T e ool
ek @ATen Whw frin
- R 0 foew TR fik
(b) 3151”@“561‘? i) w9
Q) SHHee (i) foee ford
(@) ST (iv) wEe VA v [t
Tt I
@ () (9 (@@
) @) @ @) o
@ @) @ @
O @ @) (@Gv) (@
@ @ @ @ W
Match the following with their correct option.
Types of Biofertilizers Crops
(@ Rhizobium (i) Non-legume crops
(b) Azospirullum (u) Sugarcane
©  Acetobacter (iii) Legume crops
@) Azolla (iv) Low land paddy
Answer Options :
@ ®) (¢ @
O Gy @) @) 0
O ) @ @
g 0 @) (v) @
@ @ @ @
\
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133 ﬁmwammﬁwmmﬁmmzmw%ﬁwwaﬂﬁm
HLodrd ATl
1) wETE R (2) ©REH
(3) e (4) |
Entire genome of wheat, the source of semolina for pasta, was sequ(fmcEd in the
year 2019.
(1) Hard Red Winter (2) Khorasan
(3) Durum (4) Spelt

134, STERN GO SR el o
(1) g&Hd TopaThd T SIdhReF eI RO HT B
2) wdren fee fedfa aRom
(3) ofeRReR WOt Jrenfyes afom
(4) R S s e 2
An allergy can be defined as
(1) dampening of the immune response with small molecules
(2) an enzymatic response of the body

(3) excessive response of the immune system

(4) sharing of antigenic site

135. WWWWW@WWMWFWWW
) FmEEd Q) FEmavdhex 0 () A @) R

The first vaccine developed from minced chick tissue against ———— found enormous

application in tropical countries,

(1) Hepatitis B (2)  Yellow fever (3) Cholera (4) Small pox
136. WOAERA & R e o et € o 4G, ST A HTH

(1) ¥ @ femdtem () W (4) FEE

__ isacommon floating aquatic plant that acts as 2 metal bioscavenger.

(1) Cat tails (2) Pistia (3) Fern (4) Canna
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137. ﬁmf m{ wﬁumr Mmmmmwmmmwmw
3 ) AR e s w W, T vE e T S
————— © T T sy Hedfed S

LR (2)  fordh wiemy (3) T wiem (4) FfFRIRTEE A

As per National Guidel;
P 1delines for Gene Therapy product development and clinical trials, a

Ge_ne ghﬁiapydlzroduct. (GTP) can be defined as any entity which includes a
being delivered for varioyg means for therapeutic purposes.

(1) Protein (2) Lipoprotein (3) Glycoprotein  (4) Nucleic acid

138.W‘ﬁﬁﬁﬁ'ﬁmﬁvﬁmﬁuﬁmm B T,
(1) et faym
(2) foam snfor grenfirert favm
(3) R = i GevA iR
(4) YRGr STrgfelam T RS

is the nodal agency for implementing the ‘Nano mission’ in India.

(1) Department of Biotechnology
2) Department of Science and Technology
(3) Council of Scientific and Industrial Research

(4) Indian Council of Medical Research

- ~ 7
5. e et ———— 1 YA T, 2T ke (g o
WWM@WW '
0w o AAFHS (3) it 1) foaeh

s | in Ramagiri‘district of Maharashtra has
: mzoastal wl]fage mtle conservation project.
Country for

(1) Bhatye (2)

gained prominence

Dhokamle () Anjarle (4)  Chikhali
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140, ST SRS Fe, ARG A ST S el warems g FHOTR

I IR FHOIE Ad.

(1) A w=aren gan Jugd (2) THFeF-wfriue e

(3) SfF guifia e (4) A I gada

Mahabeej Biotechnology Center, Nagpur’s state-of-art tissue culture laboratory produces
on large scale.

(1) Mandarin oranges plantlets (2) Pest-resistant soyabean

(3) Genetically modified tomatoes ~ (4) Tissue culture banana

141. YN GRS SEaagE fa9iH 3.9 77 ST e tee gesfie 6y wfd
Hel.
(1) 2002 (2) 1989 @) 1979 @ 1999

The department of Biotechnology (GOI) established the Biotechnology Patent Facilitation
Center (BPFC) in the year

(1) 2002 2) 1989 (3) 1979 4) 1999

142, ZFESITR G&H qOf ‘aiet 7' e gumed % fmtor &% fwelt Fmio e A
TR T e,

(1) wfe (2) W W IX
(3) HHd R WIH (4) sRARME

Transgenic mammal ‘Polly” produced in her milk representing major advance

in Pharming.
(1) Insulin (2) Human factor IX

(3) Human growth hormone (4) Epinephrine
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e known as Biok’gical Containment
1) A strategy to phys; . -
(2) o gyd p ysically confine organisms under study using safety equipments
) ’ tz €sign and OPerational practice to confine organisms under study
ro i
3) A procedure of handling genetically engineered organisms with extra measure

(4) Employing strategies that - el
of survival in open ender an organism used for genetic engineering incapable

144, FARTE ST TR ST oAl TRRIe s/ T Ot ‘2 S’ @ e Sear
Tadt e e s SRR SnuiE ot |

(1) Swdewdte g (2) ewiewie e
(3) swEemEn fe T T (4)  oTeeflt AT A

Liquid biopsy a newly emerged non-invasive tool to detect several types of cancer is based on

detecting circulating -

(1) Tumor proteins (2)  Tumor cells
3) Tumor DNA (4) Bone marrow cells
— f£ 3
145, WWWWWWW%__@WW%
W,
() e - z@d (2) R - e
T T etimes used to determine percentage paternity of a child.
—__ canbeso (2) Cytokine - typing

1 - typing
:3; Complement (ZP Leukocyte Antigen)  (4)  Hormonal levels
HLA - typing (***

\
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146. 26 Tedat 2004 AT Feean s 7 FS T I T el e gt P EOATE
RO et ?
1) ISAfmE (2) s (3) gmem (4) fETR
Where was the epicenter of the earthquake that occured on 26th December 2004, which

caused Tsunami in Indian Ocean ?
(1) Indonesia (2) Sri Lanka (3) Sumatra (4) Singapur

C

147. @eitd faum wa
(a) ST e MU X U Wehdid AT,
(b) HeRTZME Hia A9 11 feder 1967 TS ey AT et B,
(c) HeIE Qeiraaret 7 Y YT STRd. 3TU, e YT SR et

it S
(1) e faum (b) IR 3T () T faum (a) SR M
(3) W faum (c) SR o (4) faum (a), (b) M (c) SIS

Observe the following statements :

(a) Deforestation and flood means hybrid disaster.

(b) There was Koyna earthquake disaster on 11" December 1967 in Maharashtra.

(c) There are three earthquake lines around Mumbai. Thane, Panvel and Dharamtar creek.
Answer Options :

(1) Only statement (b) is correct (2) Only statement (a) is correct

(3) Only statement (c) is correct (4) Statement (a), (b) and (c) are correct

148. (a) T WY SxeT Y GEE A TR,
(b) 30 SHRZ 2014 st T Fcwmmiter Aeior o e e SOl STt Brefl.
(c) ETS-19 8 Sfdeh ST 3T,

Firerieh! HIvR/AR faum/A ate) o ?
@ T @) fau (a) (0
(3) faum (), (b) 1 (q) (4) faum (b) a1 (0)

(a) Disaster means Bad Star in French.

(b) Landslide disaster take place on 3pth August 2014 at Malin village of Pune district.
(c) Covid-19 is a biological disaster,

Which of the above statement/s is/are correct ?

(1) Statement (c) (2) Statement (a) and (c)
(3) Statement (a), (b) and (c) (4) Statement (b) and (c)
—— .= at mmoie
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. (2) A R .
@) T e Tew (4) TEE. yuE |
Who was appointed as director general of NDRF on 22 January 2019 ?
(1) Ajay Kumar Bhalla (2 M.M. Naravane
(3) Igbal Sing Chahal (4) S.N. Pradhan

150,

1277 1993 At Hord 32 Frered A ThiE AfAHae THIZH WRATATS SHIoret A SToreft eft 2
(1) fedt St anfor AR & ) feelt Sigt enfor d@rEl foRam

() S nfo G e () TR SR

A seties of ol il Mu_ml;ai that happened on March 12, 1993, from where does
the explosives were bought i India *

t

. 5 s Malabar Coas

(1) Dighi Jetty and i oo (4) Gorai Jetty and Malabar Coast
nd Shekha

(2) Dighi Jetty and Shekhadi Coast |

() Marve Jetty a

\
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